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= At A2

o D= (Macro): H4 U M4, D32 &4

#include <ctype.h>

#define
#define
#define
#define

#define
#define
#define
#define

#define
#define

_UPPER ox1
_LOWER 0x2
_DIGIT 0x4
_SPACE 0x8
_PUNCT 0x10
_CONTROL 0x20
_BLANK 0x40
_HEX 0x80
_LEADBYTE

_ALPHA

// upper case letter

// lower case letter

// digit[0-9]

// tab, carriage return, newline,
// vertical tab or form feed

// punctuation character

// control character

// space char

// hexadecimal digit

0x8000 // multibyte leadbyte

(0x0100| _UPPER|_LOWER) // alphabetic character
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=i 25 (1/4)

® =X} &= (Character classification): Y2}
O

U2 (ARAE EREE 2XIIX| GRE Hol

- L=

. B3 [j& EXHE unsigned char 2 B3 2 4= QICH
- EOF 2 ZX| 32 422 352 Fo|&[X| H=Ct.
Finclude <ctypehs B sj2ls 2Xt9l 49 0 0l2lo] 2t
e sta= EXH7L OfH R 0 US R
int islower(int ch); // Q& A=K {5 mCh
int isupper(int ch); // B= 22X} o 5 THEE
/] BE CARK 0 B
int isalpha(int ch); // isupper(ch) ££ islower(ch)7} HZE|= AL
"
islowerE A g 0 B
islower('a' ) 2 -
! isupperi 'A')0 1
!s:owerE 9 % 8 isupper( 'a'): 0 B
5 Toker isupper('0'): D isalphal &'): 1
C: wusgstim | ckHOneDr ivelf 2 A{HC| supper(t): isalphal'a'): 2
O 22 F248 0F 2L FEM0 fiserstic| | ckifOneDr i veli2AMHC i, isalphal’ 9 )i 0
0] EZE2 StodO OlE 3|t I_E)l,"_HISEI.thEl( ‘30
- C L flc| i cktiOneDr ivell= AtcCl ick WE#W
((\ Clickseo.com 8] Srgsn:?c:l-cag r[?_ gwr _~,—_C§,Hl|fgseo .




=i 25 (2/4)

o =Xl EF: =%t
-:-t—IfE ERElE EXI9X]| 6RE Fol
= H

. 2t L& EXt= unsigned char o 2 = gl
- EOF 2 ZX| g2 829 22 do|&|X| Y=Lt
- e st 2X1Q A2: 0 02|29 ZtS Hiet
#include <ctype.h> SH I 8% 0 Ofelel &= W
e st = EXH7L ofl AR 0 S G
int isdigit(int ch); // 108 =X} X of 7 EHEh
int isxdigit(int ch); // 16Tl =X} ZX} o{F Tt
// B 2EXL} =X} o{F TEh
int isalnum(int ch); // isalpha(ch) == isdigit(ch)7l HEE|= E2
‘= |
e -
ISCdlhs 8 isxdigit{ A"} 128 .
isdiaitt 03: 4 isxdigit('a'y: 128 @
isxdigit('0" ) 128 = lnum( ﬁ) :
[31wufgsﬂfgckWDnengeWE-ﬂiﬁ oo jixdigitl=): isalnumi'a'): 2
O &E d=2d 05 24 F=2 FH'"-”[3 Wlserstic| ickOnelr i veti= A WcC | IsalnumE 9.% g
C,| x|-‘=:= l:l--::;.a;i[q ':'l"l‘ _5'|L|' ‘—EM'SE[ Mm

- Crilserstic| i ckfOneDr i veli 2 MW i cksecthxE I
(p Clickseo.com 0l B2 Yol O J|L FEMS. . 7




=Xt

-g—ﬂ_*.'ﬂ} Mol 2%t 22| aig X § cfet 2 X0l tisto
T RElE XX 8 S Zelst= g
. B3 [j& EXHE unsigned char 2 B3 E 4= QICt
. EOF 9 2% %2 Z29 38 Holg|x| gert
#include <ctype.h> TEH Stafs 2XH0l ZQ: 0 0/9/9| 2t HhE
THTH of2iE 2X7} ObLl F: 0 AS HHE

int isblank(int ch);

int isspace(int ch);

int iscntri(int ch);
int isgraph(int ch);

int isprint(int ch);
int ispunct(int ch);

11", we
// ] l, I_th, 'Wn', lwrl, I.W.fl, 'WV'

// Ho| 2%t of
:

=]
=
// AT Bt of

/1 FOE EX7E AME &+ UA=X| T
// 5 EXHpunctuation character) ETk
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=X 25 (4/4)

ASCII e
- 1sC r

values characters s
(hex)

0- (BxBB- - .
el control codes (NUL. etc)
9 | Gx@9 tab (vt}

10 - |Bx0A- whitespaces

13 | BxAD v o)

b A control codes

31| BxlF

32 | ax20 space

33 -10x21-

: o I

| me PEERE (J*+, - F

48 -|Bx30-

=7 | ox30 8123456789

58 -|Bx3a- re=s7@

B4 | x40 ¢

65 -18x41-

20 | 0xas ABCDEF

71 -18x47-

00 | oxEA GHIJKLMHNOPORSTUVWXYZ

91 -|Bx5E- o

S6 | BxBB b

97 |BxB1-

-102| Bx66 il

103-|0x67- ..

122 | Ox7A ghijklmnopgrstuvwxyz

123-10x7E-

126 | BXTE bl

hackspace character
127 | BX7F (DEL)

@ Clickseo.com

isprint
iswprint

iscpace
iswspace

ishlank
iswhlank

isgraph
iswgraph

ispunct
iswpunct

izalnum

isalpha

iswalnum iswalpha

isupper
iswupper

islower
iswlower

isdigit
iswdigit

isxdigit
iswxdigit

[EX: http://en.wikipedia.org/wiki/C_character_classification ]
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(1/2)

ol

A} H

Ok

o1l

mjr

unsigned char =

=
—

o =4

CH

o

il

2%} ch ZH(ASCIl code) HiEt

HAEX} HE Aol 7|= 2X} ch Z(ASCI code) et

L]

#include <ctype.h>

e

Joil
Bl

i3
4
min

K
i[7]

Krd
KH

int tolower(int ch);

e

Joil
Tl

K
oK

K
i[7]

int toupper(int ch);

=L =L =

T T T

=L M =

R

toupper
toupper
toupper
toupper

m o =

e N e A

=L W ox

e

tolower
tolower
tolower
tolower

Citillserstic| i ckiOnelr ivell = AT | | ckseotth:E

0 &2 H=43 0fF 2L FEMz. .

Ciilserstic| i ckitOnelr i veli = AWML | i ckseohxG I

0f HE =W oFF I FEM=z.
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=A} HEE (2/2)

oAl 8-1: EXF 27 U M2t -- islower, isupper, tolower, toupper

#include <stdio.h>
#include <ctype.h> /| islower, isupper, tolower, toupper

int main(void)

{
char str[] = "Hi~Clickseo";
char *pStr = str;
fputs ("= EXIE: ", stdout);
puts(str) ;
printf ("HE EXIE: ") ;
for (; *pStr 1= "W0'; pStr++) {
if (islower(*pStr)) putchar(toupper(*pStr));
else if (isupper(*pStr)) putchar(tolower(*pStr));
else putchar(*pStr);
>
*pStr = 'W0';
putchar('\n'); Microsoft Visual Studio CI#§1 X+ ~
t 0: B = ZAE: Hi~Clickseo
} return U, #3l 2 X 2: hI~cLICKSED

i C:\Users\click\OneDrive\ & Al \cClickseo\x6uU\
((_‘cllckseacom of #2 gozd o2 I 248, 12
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=&t M2 (1/2)

o =X X2|(string Handling): string.h
O C EZ 2lo|H2{2|: <string.h>

Q 2 A= Helst 2%t xS dSotes 1l

size_t my_strlen(const char *pStr) {
if (pStr == NULL) { // BZE ZXE

return O;

int count = 0;
while (*pStr++)

++count;

#include <string.h>
return count;

size_t strlen (const char *pStr);

((C Clickseo.com
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=& ME (2/2)

o =X XMa|: cioje] s == A==

O Hio|H £

#include <string.h>

typedef unsigned int size_t;

typedef unsigned short wchar_t;

O A= &=

#include <string.h>

#define NULL ((void *) 0)

((C Clickseo.com
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strcpy, strncpy / strcpy_s, strncpy_s

strcat, strncat / strcat_s, strncat_s
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X121 ZEZF (1/4)

o =X} Al strepy, strncpy / strepy_s, strncpy_s

QO 2 XS E&ct A= EXES Y EXEBE FA

#include <string.h>

char—*strepylchar*dest<constchar*sre; // until C99
char *strcpy(char *restrict dest, const char *restrict src); /] since C99

errno_t strcpy_s(char *restrict dest, rsize_t destsz, const char *restrict src); // since C11

- —Stze— 2 // until C99
char *strncpy(char *restrict dest, const char *restrict src, size_t count); // since C99
errno_t strncpy_s( char *restrict dest, rsize_t destsz, const char *restrict src, rsize_t count);

// since C11

@ Clickseo.com 17




X121 =t (2/4)

Ol Ml 8-2: =XIE S Al -- strcpy, strncpy / strcpy_s, strncpy_s

#include <stdio.h>

#include <string.h> /| strcpy, strncpy / strcpy_s, strncpy_s
int main (void)

{

const char *src = "Hi~ Clickseo";

char dest[1024] = {'\0'};

printf ("H= X8 (sxrc) : %s \n", Src );

printf ("CHY XIS (dest) : %s \n", dest );

/| strcpy(dest, src);

strcpy_s(dest, sizeof(dest), src);

printf ("CHA =X (dest) : %s \n\n", dest);

char temp[] = "1234567890";

Microsoft Visual Studio CIH{1 X +

/] strncpy(dest, temp, 4); 212 2X(src) : Hi~ Clickseo

strncpy_s(dest, sizeof(dest), temp, 4); Eﬂjﬁ E;{%Eggzg i Clickess

printf ("H= =Xl (temp) : %s \n", temp); = ‘

: nCHAF 22X} . " . 2= A E (temp): 1234567890
printf ("I EXEH (dest): %s \n", dest ); FF ZTECtenn): 123
. c:\u \click\OneDrive\ & A \cClickseo\x6U\

} return 0; o Hg Dori® o= A r=Aa..|

((\ Clickseo.com
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2X121 Fx=F (3/4)

o FAI =7} strcat, strncat / strcat_s, strncat_s

O i EXtE0 A= 2XES F/H(HE)

#include <string.h>

eharEstreat{char tdestconstchar Esre)- // until C99

char *strcat(char *restrict dest, const char *restrict src); // since C99
errno_t strcat_s(char *restrict dest, rsize_t destsz, // since C11

const char *restrict src);

7 7 i = 7 // until C99
char *strncat(char *restrict dest, const char *restrict src, size_t count); // since C99
errno_t strncat_s(char *restrict dest, rsize_t destsz, // since C11

const char *restrict src, rsize_t count);

@ Clickseo.com 19




X121 ZEZF (4/4)

O|X| 8-3: EXFE F7HHZA) -- strcat, strncat / strcat_s, strncat_s

#include <stdio.h>

#include <string.h> /| strcat, strncat / strcat_s, stncat_s
int main(void)
{

const char *src = "Clickseo";

char dest[1024] = "Hi~ ";

printf ("HE& XIS (src) : s \n", Src );
printf ("CHA EXIE (dest): $s \n", dest ) ;

/| strcat(dest, src);

strcat_s(dest, sizeof(dest), src);
printf ("CHY XIS (dest) : %s \n\n", dest );

char temp[] = "1234567890";
Microsoft Visual Studio CIH{1 % + v
/] strncat(dest, temp, 4); 2= ZXd(src) : Clickseo
H e 2AE(d : Hi~
strncat_s(dest, sizeof(dest), temp, 4); D E ke

printf ("CHY =X (dest) : %s \n", dest );

A 2 X< (dest): Hi~ Clickseol234

return 0O; C:\Users\click\OneDrive\ 2 A\ cClickseo\x6U\
o #2 2ol ofFf 7L} R248...

}
«E\Cﬂkﬂﬂuxmconl 20
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strlen, strcmp, strchr, strstr
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FSX121 HAL (1/13)

o =X} ZI0|: strien / strlen_s

O FO|Tl EXIEL| ZO|(EXt 7+)S AAtetL

#include <string.h>

size_t strlen(const char *str);

size_t strnlen_s(const char *str, size_t strsize);

[/ since C11

char str[] = "Hi~ Clickseo";

printf ("EX}¥ ZO0|: 2d \n", strlen(str));
printf ("HI@ 37| :%d \n\n", sizeof(str));

char temp[1024];

d \n", strlen(temp));
d \n", strnlen_s(temp, sizeof(temp)) ) ;

printf ("EXIE ZO0|: 3
printf ("EXIE ZO0|: 3

«z“tﬂkﬂﬂuxlconl

22




S X121 HAL (2/13)

e =Xl H|id: strcmp, strncmp

Q FOT F 7lie] 2XIEO| SLTHX| {F = H|wBICL.

#include <string.h>

int strcmp(const char *lhs, const char *rhs);
int strncmp(const char *lhs, const char *rhs, size_t count);

« T EXIE0| st : 0 242 dte
e F EXE0| SUSIK| A2 EL
- AMMz=o= 2F EXIFE F ASCH 42l 42

! . 1
-~ MEz=CR2 QEE EXI7L O & ASCI 442l 42 -1

((\ Clickseo.com
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=X AL (3/13)

Ol x| 8-4: =X}E H|w -- stremp

#include <stdio.h>

Microsoft Visual Studio CIH{ 4+ o~

#include <string.h> /] strcmp, strncmp

int main (void) 2= 2XAE  : Hi~ Clickseo

{ 2EFZ EXNE : Hi~ Clickseo
const char *1Str = "Hi~ Clickseo"; cous oxg
const char *rStr = "Hi~ Clickseo"; stremp("abc", "DEF"): 1

stremp("ABC", "def"): -1

printf(".g_lg =X . 3s \n", 1Str); stremp("Z! 7Ok, "M 7tOf"): -1
printf ("EZE EXIE : %s \n\n", rStr); stromp(*A7t0Fr, »2TL0F): 1
. C:\Users\click\OneDrive\ 2 M\ cClickseo\x6uU\
int res = stremp(IStr, rStr); 0 2 Zod® of2 7L S242...
if(res == 0) printf("SYs XL \n");
else printf ("A R CIE EX}E \n") ;
printf ("stremp (\"abc\", \"DEF\"): %d\n", strcmp("abc", "DEF") );
printf ("stremp (\"ABC\", \"def\"): %d\n\n", strcmp("ABC", "def") );
printf ("stremp (\"Z7FOF\", \"A{7I0F\"): 9d\n", strcmp("Z7}0F", "A{7}0["))
printf ("stremp (\"A17IOF\", \"Z7[0F\"): %d\n", strcmp("A{7}0F", "Z 7}0f"))
return O;

}

@ Clickseo.com 24
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S X121 HAL (4/13)

Ofx| 8-5: =X}E H|w -- strncmp

#include <stdio.h>
Microsoft Visual Studio I x + o~

#include <string.h> /] strcmp, strncmp
int main (void) 2AZ ZXNE  : Hi~ Clickseo
{ QEZ SAE : Hi~ Click
const char *1Str = "Hi~ Clickseo"; strnemp(lStr, rstr, 3) : @
const char *rStr = "Hi~ Click"; strnemp(1Str, rStr, 18): 1
strncmp(lStr, rStr, 50): 1
printf("%% _E_xl.oad :%s \n", IStr ) C:\Users\click\OneDrive\ = M\cClickseo\x6u\

printf("ﬂ%% —E—I|-°E=' :%s \n\n", rStr ) ; Ol #2 Ho@ OFF 7|14 FEHR...

int res = strncmp(IStr, rStr, 3);
printf ("strncmp (1Str, rStr, 3) : %d \n", res );

res = strncmp(IStr, rStr, 10);
printf ("strncmp (1Str, rStr, 10): %d \n", res );

res = strncmp(IStr, rStr, 50);
printf ("strncmp (1Str, rStr, 50): %d \n", res );

return 0;

«E\Cﬂkﬂﬂuxmconl 25




=X AL (5/13)

o =X EE= A2 AR strchr, strrchr, strstr

O =XAIEOM x| 8E Xt £ E2XHE0| EXfSI=% Ao},

#include <string.h>

// =XHE| X" E X7 EMSt=% HMol=
char *strchr(const char *str, int ch);
char *strrchr(const char *str, int ch);

// ZXEOM B2 EXLEO| EXHSHEX| HMStE S+

char *strstr(const char *str, const char *substr);

e strchr: EX€9 X3 #H Hg2=2 LX|5t= EAE HA

=
o strrchr: ZXt2 2o E0|M 2EE LX|Sts ZAE AM

- =XE0M EXHEE EXE)7E EMSH=X] HASiCt
H

AEE EX(EE EXE)0| EX: AME 2XHEE ZXHE)L HE2E] Fa Hhe
AEE 2R(EE EXHE) EMOHA] 22S: NULL g e

@ Clickseo.com
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=X AL (6/13)

Ofxl 8-6: =Xt L= =XIE A4 -- strchr

#include <stdio.h>

#include <string.h> [/ strchr
int main (void)
{
const char *str = "Hi~ Clickseo";

printf ("HZ =XIE :%s \n\n", str );
printf ("AM & 22X} ) ;

char ch = getchar();

-~

char *pCh = strchr(str, ch);

if (pCh == NULL)

else

return 0;

}
«E\(ﬂkﬂﬂuxmconl

printf (" EX5HX|

printf ("EHM &

Microsoft Visual Studio CJHH X + |
22 EXAE : Hi~ Clickseo

A cC
C

MO ngt
THo

oY oY
1= 1=

X

C:\Users\click\OneDrive\ & Al \cClickseo\x6uU\
0f &g Hod@ OF 7Lt S=2H2...|

oHe EXHI \n") ;

LIS 1= 1=

Xl: ¢ \n", *pCh);

27




SX11 HAL (7/13)

Ofxl 8-7: =Xt == =XIE A -- strstr

#include <stdio.h> Microsoft Visual Studio CJ#f 1 X +  ~
#include <string.h>

int main (void)

~
~
)]
-+
q
0
=
1
pilt]
e

¥ ZAE : Hi~ Clickseo

I

4M & ZAE : Click
{ M 2 : Clickseo
const char *str = "Hi~ Clickseo"; c:\Users\click\OneDrive\ 2 Al\cClickseo\x6u\
of #2 dodd ofF 7L SENHS...
char search[24];
printf ("H= =XI€E : s \n\n", str );
printf ("HAM & EXIE : ") ;
gets s (search, sizeof(search));
char *pStr = strstr(str, search);
if (pStr == NULL) printf ("EXSIX| 2= EXIEN \n") ;
else printf ("AM ZXI4E : s \n", pStr );
return O;
}

((\ Clickseo.com 28




((C Clickseo.com

GOS0

=ArE A

=X HAl
strspn, strpbrk, strtok
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=X AL (8/13)

S AP A56M Exllsl=A] 05

#include <string.h>

size_t strspn(const char *dest, const char *src);
size_t strcspn(const char *dest, const char *src);

O EXHOIN S 2Pt X HH SARE ALoHM EXoHs
2olg ZHMBLL

- 53 EXLASOM =X AME BE22 Z0|S whE
- B8 EX7L A5oM EMSHR] 24 0 S W

t
st (Ch &M= £ 81K %&Ch

@ Clickseo.com 30




=X AL (9/13)

Olxl 8-8: §°8 X7} H=HoHA EXSI=X|] H{F -- strspn, strcspn

#include <stdio.h> Microsoft Visual Studio CJ#{1 X + o~
#include <string.h>  // strspn, strcspn Low_alpha, strspn : 5
int main(void) low_alpha, strcspn : ©
{ special, strspn : @
const char *str = "abcdel2345$&*"; special, strcspn : 18

C:\Users\click\OneDrive\ £ A \cClickseo\x64\
/) Q2 ARX} 0 #2 E24@ OF 7L SEHa..
const char *low_alpha = "abcdefghijklmnopqrstuvwxyz";

printf ("low_alpha, strspn : %$zd \n", strspn(str, low_alpha));

printf ("low_alpha, strcspn : %$zd \n\n", strcspn(str, low_alpha));

// S5 =X

const char *special = "~I@#$%N&*()";

printf ("special, strspn : %zd \n", strspn(str, special)) ;
printf ("special, strcspn : %zd \n", strcspn(str, special)) ;

return O;

}

((C Clickseo.com 31




=A122 ZAL (10/13)

o 53 =XVt Exllol=A| 015

#include <string.h>

char *strpbrk(const char *dest, const char *breakset);

O =XEO|M o2 72| ZXt T otHEte EX|St=X| o F
" EXF EN: HME 2X10] H22| FAE ug

d EX7F EMSHK] B5S: NULL 2het

XEo|M o Jlel EXF T ofLiete A=XE HA
t2e| 2Xp7t Stitate EXSH= AX|of|lM A S SEHECL.

»  HME 2xio| H2E| FAE wEHsiCt,

>

((C Clickseo.com
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=A122 ZAl (11/13)

of %l 8-9: £8 =Xt7} EXHSt=X] HF -- strpbrk

#include <stdio.h>
#include <string.h>
int main (void)

{

/] strpbrk, strspan

const char *str = "Hello World, Hi~ Clickseo ~..A";

const char *separator = " ,I";

printf ("HE =XIE: ¢s \n", str);

printf ("T*=X}: s \n", separator);

unsigned int count = 0;

do {
str = strpbrk(str, separator);
if (str)

str + = strspn(str, separator);

count++;
} while( str && *str );
printf ("EH0 £ 9d \n", count );
return O;

}
((\ Clickseo.com

/] 2R S

ELEER
/7 EH0f %

Microsoft Visual Studio CJH O < +

# = EXE: Hello World, Hi~ Clickseo ..
TER:
Co +=: 5

C:\Users\click\OneDrive\ 2 A \cClickseo\x6U\Debug\
0] #2 ¢ogd of 7Lt =248...

33




=A122 ZAL (12/13)

o =X 2& &l: striok

#include <string.h>

7 7 // until C99
char *strtok(char *restrict str, const char *restrict token); // since C99
char *strtok_s(char *restrict str, rsize_t *restrict strMax, // since C11

const char *restrict token, char **restrict ptr);

M
—_—

NYE 5Y FEXIE SXIYS 2B

[
——
2
Rl

° 'E' OE:I% o - o L = .
- EdE FEX7 =X ZME token o] HX|(H 22| F4)E HiE
- 538 FEXZI EXSHA] &S NULL gt

o strtok &+
- o= FEXE 0| 8510 EXIE S EA = ULE ot= g5
- =XEE 2 We| LEXs F HAM QX2 x| ST}

@ Clickseo.com
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Microsoft Visual Studio CIH X + o~

O 4 2 X < (str) : 800000322C8FFIC8 Al F = 70 80 90 240 80.8
FER

= 01 * 000008322C8FFICE : AT =2
I I E £80000322C8FFICF : 76 80 96 2U0 80.8

000000322C8FFICF : 70
322C8FF9D2 : 80 90 240 80.0

000000322C8FFID2 : 80

GI%l 8-10: 2X%E 2 -- strtok / strtok s B
#include <stdio.h> ST L 20
#include <string.h> [/ strtok 9906009322C5FFODC ; 86.0

int main (void)

C:\Users\click\OneDrive\ £ A \cClickseo\x6U\Debug\cClickseo.exe

{ of #2 oo™ O 7L SEAHS. ..
char str[] = "kl‘llz'% 70 80 90 240 80.0";
const char *token = " "; // =X}
char *nextToken; // Bt ol ZIE KXo =4

printf ("CHA EXIE(str) : ¢p ¢s \n", str, str);
printf ("T*=X}: %s \n\n", " ");

// char *pToken = strtok(str, token);
char *pToken = strtok_s(str, token, &nextToken);
while(pToken !'= NULL) {
printf ("%p : %s \n", pToken, pToken );
printf ("%p : %s \n\n", nextToken, nextToken );
// pToken = strtok(NULL, token);
pToken = strtok_s(NULL, token, &nextToken);
}

return 0;
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o XS A= HEL atoi, atof

gz

p

CC
—

o2
ro

rr

QO =XEE X8+

#include <stdlib.h>

// X2 E H3+H(int, long, long long)2 2 HESIE g

int atoi(const char *pStr);

long atol(const char *pStr);

long long atoll(const char *pStr); /] since C99
// BXEE M8 (double)2 2 HIEHsHE Bt

double atof(const char *pStr);

((C Clickseo.com
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A1 0} A} HE (2/4)

O|X| 8-11: =XIE =S x=XI2 HZ -- atoi, atof

#include <stdio.h>

Microsoft Visual Studio CJH{ 3 X +

=

#include <stdlib.h> /] atoi, atof oo =i ¢ =: 18.123u56789
int main (void)
ol ZXY: 10.123U56789
{ detE Ha: 10
= 1 A,
char str[24]; HshEl d=: 10.123U57

C:\Users\click\OneDrive\ & A \cClickseo\x64\
|jé!-c EI’GE:ID:' Ol-_'?_ ?lLl'I_EJ-.‘"_Q_

gets_s(str, sizeof(str)); // gets(str);

$d \n", atoi(str)) ;
:$1f \n", atof(str));

return 0;
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=AI2 0} =X} HE (3/4)

o A= SAIAUE HEISE: itoa, Itoa

O E+d xXIE 2%, 8%, 102 E& 16252 EXIEE HE
#include <stdlib.h>
// B (int) XIE EXIE str 2 Ht
char *itoa(int value, char *buffer, int radix); /] POSIX
errno_t _itoa_s(int value, char *buffer, size_t size, int radix); // ISO
// 8 (long) =X}IE EXIE str 2 HeSt
char *ltoa(long value, char *buffer, int radix); /] POSIX
errno_t _ltoa_s(long value, char *buffer, size_t size, int radix); // ISO

// itoa, Itoa & A8 A] Visual Studio 20195 E{ 2 & (error) M| A| X]|
Error C4996:
The POSIX name for this item is deprecated.

instead, use the ISO C and C++ conformant name: _itoa.

See online help for details.

((\ Clickseo.com
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=AI2E 0} =X} HE (4/4)

2} -

[ W—

Ol H| 8-12: =XIE =XIEE H

- itoa / _itoa_s

#include <stdio.h>
#include <stdlib.h>
int main (void)
{
int
char

num;
buffer[1024];

printf ("¥2|o| M QUH: ) ;
scanf s("%d", &num);

printf ("\n
// printf (" 2%
// printf ("10%l
// printf ("16%l H
_itoa_s(num, buffer
printf (" 2% ﬁé{

g A

>
Ral

_itoa_s(num, buffer
printf ("10%lF H 3

(M | | My

_itoa_s(num, buffer
printf ("16%lF 3

(Ml | | My

return 0;

}
«E‘(ﬂkﬂanxmconl

[/ itoa / _itoa_s

+

B

& Microsoft Visual Studio LI %

Aole H ¢ 12305

=]

rArA A Y
A 4 o

& rErE
rlok rlok rlot

o
i
[
%]
[4,]

[

. lleepeeellleel
© 12345
: 3839

=
oh @ M
Ao Ao o

C:\Users\click\OneDrive\ & M\cClickseo\x6u\
o #2 2o8® OfF 7L =2M8...

// scanf ("%d", &num) ;

, num ) ;

: $s \n", itoa(num, buffer, 2) ) ;
:$s \n", itoa(num, buffer, 10) ) ;
:$s \n", itoa(num, buffer, 16) ) ;
sizeof(buffer), 2);

=Xl¥: 2s \n", buffer );

sizeof(buffer), 10);
=Xl¥: 2s \n", buffer );

sizeof(buffer), 16);
=XI¥: s \n", buffer );
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